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SECTION - A                                         
                                         Answer any FIVE questions                         (5 × 8 = 40) 
 
1. Explain the role of commercial banks in the economic development of a country.  

2.  Under what circumstances the banker can dishonour the customer’s cheque.  

3. What are the features of lien? 

4. What precautions should a banker take before opening an account in the name  
of partnership firm? 

5. State the special features of recurring deposit account.  

6. Explain the different types of securities.  

7. Explain the duties and responsibilities of collecting banker.  

8. What is negotiable instrument? Explain its features.   

 
SECTION - B                                         

                                         Answer any THREE questions                   (3 × 20 = 60) 
 
9. What are the difference between commercial bank and central bank? 

10. Explain the duties of a banker.  

11. Explain the procedure for opening a fixed deposit account.  

12. State the precautions to be taken by a banker while granting advances against 
real estate.  

13. Explain the different types of crossing and their significance.  
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gFjp - m 
vitnaDk; Ie ;J tpdhf;fSf;F tpilaspf;f 

(5  8 = 40) 

 

1. ehl;od; bghUshjhu tsh;r;rpapy; tzpf t';fpfspd; g';fpid tpthp. 

2. ve;j r{H;epiyfspy; thof;ifahshpd; fhnrhiyia t';fpah; epuhfhpf;fyhk;? 

3. gw;Whpikapd; ,ay;g[fs; ahit? 

4. Tl;lhz;ik epWtdj;jpd; bgahpy; fzf;if Jtf;Fk; bghGJ t';fpah; 
vLf;f ntz;oa Kd;bdr;rhpf;iffs; ahit? 

5. bjhlh;itg;g[f; fzf;fpd; rpwg;gpay;g[fis tpthp. 

6. gpiza';fspd; gy;ntW tiffis tpthp. 

7. tR{ypf;Fk; t';fpahpd; gzpfs; kw;Wk; bghWg;g[fis tpthp. 

8. khw;Whpik Mtzk; vd;why; vd;d?mjd; Kf;fpaj;Jtj;ij tpthp. 

 

gFjp - M 
vitnaDk; _d;W tpdhf;fSf;F tpilaspf;f 

(3  20 = 60) 

 
9. tzpf t';fpf;Fk; ika t';fpf;Fk; ,ilna cs;s ntWghLfs; ahit? 

10. t';fpahpd; flikfis tpthp. 

11. epiyitg;g[ fzf;F Jt';Ftjw;fhd eilKiwia tpthp. 

12. tPl;Lkid/ epyk; nghd;wtw;wpd; nky; fld; tH';Fk; Kd; t';fpah; vLf;f 
ntz;oa Kd;bdr;rhpf;iffs; ahit? 

13. fPwypd; gy;ntW tiffisa[k; mjd; Kf;fpaj;Jtj;ija[k; tpsf;Ff. 
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